Ch 2 Homewovk S&\i}:m Gireuin Avalusis ££ 23/
o2
50v e I5A
&L.Q 2504
CREN e -+
(a = ~ 25A , 4% 6o = -150 %
Swce 50-(-./{03 % 250
T e Conmnection n .\V\\)‘\L—\'J .
2.8
+
T‘O {oov 2{p
A
Soy YA Q)
('.Q.':, "\A
+ ] ‘ -+ I
160v ’ZA ?O\:
= 100y gAa

60v o 180 YA




2.

fun
Jeos

logag
fon

D

0]
}2- =

i}

i

PN
(60)(12)
(80) ()
(Hlige)

(8)0Lee)

1l

}

e

13

2]

-
-

& P gty

2\

\A20 W absovh
q20 W Swpply
o W absovb
420 W sow\j
oo w Soﬂ)\j

-
-

Z_ Po\-o;./ "hscwxo

4 Yo -
25 .
e AN
—s T,
S Lo .
A PN
o ! -
u\-
s 180V \ l;&n. s
¢ T, f
I\ -
Since Tg o MA } ~Ne = \0Oo 3
N2 - -Voai8 = 80V
Il :\‘Lg}\-: {(OA
Tr = Zo . Ty = ~6A
.\‘\3 -~ \Q 1:3,4941 - 14O o
T\ < :‘..l— - 2.A
Jo
Ty = I3. L, - -8A
s - Lo - Th = 1A

-



}D"«» - )28 & woow
?'9"«\. - (). Fo = 280 w
ﬁo - (8)'le = 360 ©
faw . Uo)8 = Boo u
7)12.—, = (’g")(‘ﬂ = 2160

Z ?dlss'\(?d'o! = 2 ‘)awc\/ S\,gf\:)

2.27

0.8y 9.8

cx = 30 ':ﬁ
‘:B . 15.2 y0.8 - Vv A
6 r
Vs 2o~ (esw)(20ig) + 254 ak)(3eip) = 4.5

0
st
[ d
14
'

(15.2) k\“\A ) - 15,2 wary Sogf\\)

oV
oo
<

i

(083Y(mA) = 08w W Sveely

S -



Pﬂ;v = (15\(ZQ‘MA\= F25 waw suﬂ;\,j
ﬁm& = QAmA4:-5) = 130.5 ww absovh

= 'OK)(\W\A ¥ = o wWw dissi pat ed
lox (’

Bo

P -: (QqMAy(Soo\ 2 Y20.5 mW d(ssirdtop
0.5«

= (301\'\/4)1(1093 = 180 v W &(Sli‘oq**a(

O

Z Qovev So“ﬂit& 2 Z Pow ev absovbeol + i ?oweva\'.sr.'rq-l—oal

2.%0
Sco
W
\—?'
* x -
loov ! Joi
(s

\OO = - 20¢6 + )S(ND
0O = 5(€4+40i€- 18

(s = 4A awd (A = \OA
\lo = 4o(§ = /6o ¥ NX = No.20 = MDD 4
LG8 = BYA

(X +LD = q\lA

[T

¢ x
‘>
ﬁ""l = (100)\\\33 = Q400 W 5\,?{,\)
g,is = (20\6\(\.3) = -?‘520 wW .Soc?\j

ﬁo; = (20)(829) - /600w abssv)

-4



Fﬁ&o = (8Be)RxX) = \NW200 W absoh

P5i§ = (5C6>(C¥>: /680 W absorb

<0
o
5

(8)(<n) - 1800 w é\xss;‘:ﬁq

L
C
]

? = ("'0)(6631 = 640 W o\xss'.fa-ke_ol
(Va3

2 eouu Su@e\leJ = E Fowev q\oSer\nc! e ZPowwaliu.',OdeJ

C\,\, L8 YN owmewor K Sw-\-(ows EE 13

6 C

(w +(50430)

/(ZCC\ = 20 VL



&
2\ | Pl

4 <—L1. -
No 22 %0 lo
_ 2.NA & -
o Co
. 2 \
btz ( il &9-\\,4\
(20 410D (6~ Yo\\10)
Ci = /. 6 A
C 2 - AMNA_ LEA = 0, 8 A

Co =</o+% Y(1 €AY =
No = 20¢r = /6 2

Ui’-\\A = (2ox10) (1 = 29 22
f’\\A (2\\)\2 \)5 - 6.6 W (Soefj\
63(\,1_ = éd. = /5. 3¢ W (C}C\Sﬁq’q‘\e\
3.4 -
-~
e AAAA —
+
20V \ ™ R~
R,
4 = e ao Q2°\ — Ky = (O
3. BN (2) — Rz

R \\ R+ Yo
o8 .



12\ 40\1\_
AN AN
éD \:XL%JOW
25
g Sas
3 K S 1
OVL &
f A
L - i
9
CxX = 295 = |SA
73+ Joa 60|\ lo
So o= X (30\\60) -~ Joo 3
Ns o - (11)(2—1)«. Joix+o = \ofo 2
2.26

ok ‘LJ'T
J?w\/\ 2K pla

AAA—. -
+ e -
5% 12k
<:X7
15
¢ - IQMA> 2 6.7S A
X = ( Isa 25

~No = - (5K) iy «+ ({21‘&}(‘)8—ix>

N, = J)F9 X
i



3. 49

.

lo
1% hand
300V
6\«\. /gv\.

A‘ T T““\'ﬁf’\‘ *\.U‘\

TLS Ja

Joed v
16.67 o
) 200
('5 - - - 20/1
343314 (55046 )“(:&/L.m)
B .56
Ly w 2D = A
N6+ 3v.69

ﬁsw . )5 s yso o\;;;;fwjﬁcg



3. 6“! 220,

e AAAN
Ly
/- 20 - SD‘A'
AL o
'Y
éoo
lA éb&o ::_o
(W l:b
o
" T &
7= 8 Transfovmation 210,
¥ A
%DW
I o ;oo""
A" ™
(A tap
|A “ .
Co
64
, i NAA-
: - (g
| 2o
v
cxX = A L = 0.2 A
7€+ 304
Fo+320
‘o : Hoo (k. = ©0.09¢ A
Yoo+ boo
(g = Cooly = ©.0MEA

. 5o iy + 6oo Lo
o = -
‘oo

0.6A
-1






